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Graph the equation y-5 = #( x-2)
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Review - Chapter 6

~

Identify each of the equations as being in slope-intercept form, point slope form or neither.

y=3x+2 y -1=2(x+3) 8x-2y=16
Jispe- int. oIt = Slepe | etibann
4 ! Stamdor Y vy
The rate of change is constant in the table. 1t-% _ 4
Find the rate of change. -+ 1

Explain what the rate of change means.

People Cost
2 * ]800
3 3 2.00
4 16.00

Rate of Chqnge_LlA

What does the rate of change mean?
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What is the slope of the line?
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Write an equation of the line with the given
slope and y-intercept.
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Write the equation of the line

Equation: ‘;\’ = _7l.1 X
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A line p&ése; through the given points. Write an
equation in point slope form.
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Identify the slope and a point from the given
equation.

y-2=(x-3)

M= %

PoinT:< 3.2 )





